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AG=—RTInK, £ ¥, 100 CilcBIT 5 MeSN-BMeSOD A G1X0.56 kcal/mol T
MeBP-BMe3 ® A GlX1.52 kcal/mol & 725, #it » T100°C Tl Me3P-BMe3 n
Me N-BMe DIZHATLETH L (FREELICWY)

AG=AH—TASXEY
A H373= A G373+373 A 8373: A G373+373AS°

MeBN : BMe3 : AH=0.56 kcal/mol+ (373 K)(45.7 cal - K)=17.6 kcal/mol
MeBP-BMe3 : AH=1.52 kcal/mol—+(373 K)(40.0 cal - K)=16.4 kcal/mol

Me N-BMe ZfifBES 5 DIZL 0 Z L ORPBETHH, - T, N—BHLIE
A DTF IR,

MeSN-BMe3 :
AH=17.6 kcal/mol, —TAS=(373)(45.7)=—17.05 kcal/mol,
A G=0.56 kcal/mol

MeBP-BMe3 :
AH=16.4 kcal/mol, —TAS=(373)(40.0)=—14.92kcal/mol,
A G=1.52 kcal/mol
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10-5. AG(Me3N-BMe3) > AG(Me3N-BMe3)& AT L,

Wi 5L EDREEZT T 5L

AH—TAS (Me3N~BMe3) >AH—TAS (Me3N-BMe3)

17600 cal/mol — T (45.7 cal/mol - K) > 16400 cal/mol — T (40.0 cal/mol - K)
T (5.7 cal/mol - K) < 1200 cal/mol

T < 210K (-63C)



